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7 TANXORAE VT —AILDRAK

RISE 7.1. (1) 17. (2) —180. (3) —324. (4) 30. (5) 288. (6) 57. (7) —70. (8) —434. (9) —15z + 82.
(10) 20z +31. (11) 2* =22 +20 -2 = (z — 1) (2> + 22 +2). (12) 2%y? —2? — 92y —y? + 4o + 4y +9.
B 7.2.

1 -7 11 -1 1 -2 =71 1 -5 0 b
(1) 54 -1 5 -7 (2) 51 1 7 (3) £ 0o 3 -1
11 -7 5 5 7 8 5 —1 -3
1 6 -2 -2 1 5 —-1 14 1 6 -3 3
g0 4 -2 (5) 55| 5 —5 10 6) — | —44 37 —19
-6 —-1 5 -5 9 =26 —46 35 -—17
1 9 4 11 1 —-12 -5 &8 1 2 =2 -1
(M5 |11 -9 -6 (8) 57 [-2¢ -3 9 (9) 5| -7 138 -1
-1 -6 -4 -3 4 2 2 -5 2
3 2 -1 -1 —-12 19 -22 26 -—10
1 1 1
(10) 3 | 31 21 27 g1 -6 8 (12) 5| 26 -25 11
23 —18 -16 2 15 =20 10 —11 7
M8 7.3.
8 1 43 23 3 9 25
De=-5y=02 @2 z=zy = 2 = Be=py=-72 1
1 1 1
(4)x:—$,y:—73,z:—?. (B)z=2,y=4,z=5. (6)3::—1,1/:4,2:%.
11 3 19 4 7 22
=—,y=—,2=—. =1 = = —16. =——y==,z2=—.
(Me=-"ry=52=7 (8) 2=10,y=3, 2 6 Oz=-gy=52=73
20 8 35 25 11 5
1 =——,y=—-,2z= 11 =—1,y=4, z=1. 12 = —,y=—,2=—=.
(10) = V=37 (11) = cy=4,z (12)z=—y=—, 2=~

IRE 7.4. (1) a* —28a® +48a = a(a—4)(a—2)(a+6). (2) z%y* — 92 — 152y — 4y + 30z + 20y — 23.
(3) 2t 4223 =222 + 8 = (x +2)%(22 — 20 +2). (4) 2* — 1722+ 2 +12 = (z — 4)(2® + 42® — 2 — 3).
(5) 33. (6) —35.

%8 7.5.
~11 5 13 -3 5 5 5 5
1 5 —11 -3 13 1|1 -7 —-15 17
(1) (2)
321 13 -3 5 -—11 40 |8 —16 0 16
-3 13 —-11 5 7 31 15 —41
-33 -8 —11 34 64 -3 —10 —33
1|—-27 -8 —11 28 1|24 3 -6 =15
(3) (4)
6 |-30 -6 —12 30 24 | =72 6 12 42
-9 -2 -5 10 -32 -3 14 15
IR 7.6.
(1) Tl = 4, xTro = —6, xr3 = 4, T4 = 1. (2) T = 20, Tr9 = 2, xr3 = 12, T4 = —23.
47 29 19 55 117
—_ —— _ — == — :7_ 4 p— :—12 —_ — — :—7.
(3) 1 T2 =g T 6, 74 1 (4) z1 = 60, 2 , T3 5 T4 5

(5) z=3a+22,y=-2a—27,2=a+20. (6)z=—-14a+3,y=19a—4, z=—Ta+ 2.



